2sm elouadih  sxpioll Lol |

11
U=@1-11;v=(0,-12);w=(L-2,3) wlpxioll yuzi R® _spzioll slasll (oo
6wB:<ﬁ,V,Vv) ol pw .1
032 Isaxo F J Lwlwl bel.wg v U o Mgoll (spxiodl F slas)l e .2
G={(x,y,z)eR3/x+2y+z=O}a.,,JL1JI acgoxoll ju .3
ad> (g0 £lad (G, +,.)) ol g
0 dA> L
G=F ul yw .w
120 A0
0 b
a c |/(a,b,c,d)eR* Falilic pendll s
0O d
a2y > a0 (sdas> (spxio slad (E,+,.)) ol pw .1
aya>ly adl>(E, +,x) ol gu .2
Sadsls s Jof alolS s Jo .3
3l

E={M(a,b)=[a+b a_bj/(a,b)eRZ}@m%N\ﬁm
a—b a+b

mag\qméj,{é;gg.;h;hbé(&t,) Som L1

A%:B% AB;BA «al B=M(0,1) 5 A=M(L0) e 2

LIS o da gl Al (B, +,x) of o 3

a
E=<0
0

0

14 a0
Gy2oll . (sl uglalls (X, y)+(XLy)=(xx, y+Y") isdWl + vgilall E=R xR 593
l.(a,b):(a‘,ib) o

Ghis eaie sLad(E,+,.) of o

150 a0
E ={al +bA+cB/(a,b,C) € R®} 1 de janall s
010 001 100
B=/0 1 1|9A=|1 0 1[9I=|0 1 0] Cu>
101 010 001
02y >az0 (sins> (spio sLad (E,+,.)) ol gw .1
(LA,B) uwlwVl (88 BAgABgB’s A’ o JS wlilas] sa> .2
B® zuwiwl .3




adsls g asly asl>(E, +,x) ol pw 4

160 A
E ={al +bA/(a,b) € R? } il ic sandl ;5
011 1 00
A=l1 0 1]gl=|0 1 0| cu>
110 0 01
0dsy I>ax0 (sdsb> (spxio slad (E,+,.)) ol pw .1
A?=A+20 ol yu ] 2
033>9 Lgléo Jusi A Ul M'u
aJdsls 9 aua>ly asl>(E,+,x) ol g .3

CW@QJ&
SalolS (sa &

(VneN) A"=uA+v,l ol o
{(Jtn+1=2un+l+vn+1 L
Bra=tha Vo
(B,), 5 (a,), domb >2> J
n aVu A" s> .o

2T A

X 'y z
2z X Y /(X Y,2) € R® Fadull de ganall i
2y 2z X
sday e s eate sLmd(E,+,)) Olow .1
Rl s LS dds (B, +,x) ol ow 3
18 00"
:a Wl olsgaan)l glio si>
-8 -12
-7 -12 (ontrouvera B*= B)
4 -5




